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Grammar :
Some people prefer camping to ..........oevvvveiieeeeennnn. in hotels .
1) stay 2) staying 3) have stayed 4) be stayed
Did you see those ... coins in the museum?
1) interesting / round / thin 2) round / thin / interesting
3) interesting / thin / round 4) round / interesting / thin
Vocabulary :
Doctors don 't know the reason for his illness ; they want to keep him under
................... for a week.
1) observation 2) eyesight 3) guidance 4) operation
Although airplanes are safe and comfortable , I really .................. flying.

1) would like 2) prefer 3) dislike 4) enjoy
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My friend got very .................. when it was time for us to leave .

1) fashionable 2) suitable 3) painful 4) emotional
The committee ................. of ten people from ten different schools .

1) composes 2) consists 3) includes 4) contains

I don't want to see him anymore. He's ................... me in a lot of trouble .

1) amused 2) involved 3) insisted 4) attracted
Cloze :

How Television Has Changed
You really have to get very old before you realize you' re old , I'm in my early forties
and I don't feel old yet. However, sometimes I look back at my childhood and .... 83
....... things to the way life is for today's children. Some things have certainly changed.
One area of change is television. Some changes have been improvements. Some

changes, however, have been ............ T When I started school, most people
didn't have a television ; TV was just beginning to get .............. 85 e My father
decided to go out and buy a 16 inch black and white one. I still ........... 86 e

watching the "Lone Ranger" save people from the bad guys on that awesome
electronic machine. That was exciting.

1) remember 2) forget 3) compare 4) miss
1) great 2) big 3) setbacks 4) perfect
1) invented 2) built 3) amused 4) popular

1) remember 2) record 3) rebuild 4) reply
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87- Reading Comprehension :

There are more than 3000 languages in the world, but only about six are the most
important languages of the world. Two-thirds of the world's population speak those six
languages. More than 300,000,000 people speak English as their first or native
language. Another 300,000,000 speak it as a second language. No one knows how
many people speak it as a foreign language. Chinese is the only language with more
speakers than English. This is because of the huge population of China, more than one
billion people.

English is the native or official language of one-fifth of the land area of the world. It is
spoken in North America, Great Britain, Australia, and New Zealand. In South Africa
and India it 1s one of the official languages . More people study English than any other
language. In many countries, the textbooks in uniersity classes are taught in English
even though the native language is not English.

English is the language of international communication. It is the language of
international business, research, and science. More than three-fourths of he world's mail
1s written in English. More than three-fifths of the world's radio stations use English.
More than half of the scientific and research journals are in English.Most other
languages have borrowed many English words.

In the middle of the ninteenth century , French was the international language. Then
Britain became very powerful in the world.England started colonies in North America
and India in the seventeenth century. This means that they thought these countries were
part of their own country, England. They used, for example, these countries ' oil, gold,
etc. By 1900 England also had clonies in other parts of Asia, Africa and the south
pacific. The people in the colonies had to use English. Slowly it became more
important than French internationally. After the second world war, the United States
became very powerful, and even more people began to learn English.

According to the passage .........ccceeeeeeeeennnn.

1) more people speak Chinese than any other language .

2) the only official language in South Africa and India is English.

3) one-fifth of the people of the world speak English as a foreign language.

4) two-thirds of the world's population speak English as their native language.
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Which sentence is correct ?

1) About fifty percent of the world's radio stations use English.

2) More than sixty percent of the scientific magazines are in English
3) Over seventy five percent of the world's mail is written in English.
4) English is against international communictions and business.

What is the best title for this passage?

1) Different countries and different languages
2) The six important languages of the world
3) England's colonies all around the World
4) English- The International Language

What is a colony?

1) a place with a large population

2) a large country that is very powerful

3) a place or country that helps another country

4) a place or country that depends on another country



